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(Solved)

Answer the following questions briefly.

In which hemisphere India is located?

Northern Hemisphere

What is the latitudinal and longitudinal extent of India?

India lies between 8°4’N to 37°6’N latitudes and 68°7’E to 97°25E longitudes

What is the north — south and east — west extent of India in kilometres?

North — South extent is 3214 Km. and East — West extent is 2933 Km

What is the total length of India’s land boundary? What is the length of India’s coast line?
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Total length of India’s land boundary is 15200 km and the length of India’s coast line is
7516.6 km (Including Andaman and Nicobar and Lakshadweep)

Why India is called a peninsula?

Because its three sides are marked by oceans.

Name the states through which the Tropic of Cancer passes.

Gujarat, Madhya Pradesh, Chhattisgarh, Jharkhand, West Bengal, Tripura and Mizoram

Complete the following:

Four landlocked states of India are
Ans. Haryana, Madhya Pradesh, Chhattisgarh and Jharkhand

The largest and smallest states of India are
Ans. Largest-Rajasthan, and Smallest-Goa

The line of latitude that divides India into almost equal halves is
Ans. Tropic of Cancer (23°30°N)

The Indian Island which is volcanic in origin is
Ans. Andaman & Nicobar islands.

India shares its longest boundary with
Ans. Bangladesh

Two states which share a boundary with Pakistan are
Ans. Gujarat and Rajasthan

The states which are referred to as the ‘Seven Sisters’ are
Ans. Arunachal Pradesh, Nagaland, Manipur, Mizoram, Tripura, Meghalaya and Assam.

India’s southern neighbours are
Ans. Sri Lanka and Maldives.

The water body that connects India to Sri Lanka is
Ans. Palk Strait.
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Name two states that share a boundary with Bhutan.
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Ans. Assam, West Bengal.

Fill in the blanks.

India has got.............. Number of states and ............ number of union territories?

Ans. 28 states and 8 union territories.

The land mass of India has an area of.................. Million square kms.

Ans. 3.28 Million square kms.

Indian state with the longest coastline on the eastern coast is .....................
Ans. Andhra Pradesh.

The Southernmost point of Indian mainland is ......................
Ans. Kanyakumari

From Gujarat to Arunachal Pradesh, the time lag is ............... hrs.
Ans. 2 hours.

Match Column A with Column B

Sr. A B

Southernmost point Arunachal Pradesh

Westernmost point Karakoram Range

Easternmost point Indira Point
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Northernmost point Kachchh

Ans.Ans.1-C,2-d,3—-3a,4-b

Map.

India-States with Capitals, Tropic of Cancer, Standard Meridian (Location

and

Labelling)
Ans. Figure 1.3, page 3 (text book)

2]21-04-2020/PREPARED BY: PAUL DOMINIC




